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Q.No.1                                                                                                                                            X1 ÎZw�
(1)  The founder of Modern Sociology is:-                                                                                           ].h+/Z*]»!*ãìX   (1)

(A) W.G. Sumner  ÚY\-.çE e   (B) August Comte  W7»U (C) Durkheim  eg{ì (D) Max Weber  mzQ
(2)  ____ is a Social Science.                                                                                                      Zq-�Y‚bìX  ____ (2)

(A) Sociology  /Z*] (B) Physics  ‚Û¾ (C) Biology  !*ÇßY (D) Chemistry  d~
(3)  Minimum _____ persons are required for Social Interaction.              Z�ÛZŠÅ¢zg]ƒCìX _____ �Y·¶ÆaÁZiÁ  (3)

(A)   2 (B)  3 (C)  4 (D)  5

(4)  The concept of Secondary Group was introduced by:-                                                               U*â~¤/z{»¦g7HX  (4)

(A) C.H.Cooley  XZÝÃáä Ï (B) W.G.Sumner  ÚY\-.çEä e    (C) Durkheim  eg{ìä   (D) Maciver  }Çgä
(5)  ____ is achieved status.                                                                                                           £Zõ!ìX ____ (5)

(A) Chattha "š  (B) Young  â�Zy (C) Male  %Š (D) Doctor  eZË
(6)  Mores are:-        (A) Compulsory Norms ƒ~©Ñ]                                                                       czsWŠZ[÷X   (6)

(B) Elective Norms  Z(g~©Ñ]          (C) Non Serious Norms  )¤{©Ñ]         (D) Formal Norms  gŠ©Ñ]
(7)  It is essential for Social control:-                                                                                              �Y‚Æa¢zg~ìX  (7)

(A) Justice  »s Z (B) Social class  �YŠgz (C) Social Action �Y¿ (D) All of these  tÓx
(8)   Formal Positive Sanctions are:-                                                                                                      gŠµ

!o-B5é
G
E]÷X (8)

(A) Praise  °p™** (B) Threat  Š–Šb (C) Joking  èZt™** (D) Medals  7

(9)  _____ society has high Fertility Rate.                                                                    çÑ{~ÑbaZö—ƒCìX _____ (9)

(A) Industrial Q (B) Urban  £c*C (C) European -g8 (D) Agricultural ig¦
(10)  Social Norms are not found in _____ society.                                                                   �Y©Ñ]ñ�Š7ƒDX  (10)

(A) Urban c*C £ (B) Rural  Ş̌ (C) Modern  ].h+ (D) Animal  ³Zã
(11)  Uniformity in social needs causes:-        (A) Cultural variabilities pDZ%Ã]            ¢zgc*]~7+M»!*)̄k�÷X (11)

(B) Cultural similarities  pD˜�]                      (C) Ethics  ZÜª]    (D) Customs  gÌzgzZ`
(12)  Opposite of Ethnocentrism is:-                                                                                                         ÖÅÔìX  (12)

(A) Change  p~ (B) Poverty  ¾"$ (C) Illiteracy  **pZ0+Ï (D) Cultural Relativism  pDZŸs
(13)  The more popular marriage in Pakistan is:-                                                        ÷áŠ~ic*Š{=wìX _____ 0*Îy~  (13)

(A) Arranged  ”{ ð (B) Court  °Zª~ (C) Love  ›Å (D) Exogamy  {gY
(14)  Informal Education is obtained through:-      (A) Schools and colleges jßVZzg»4Ð           gŠ½qÝƒCìX ) (14)

(B) Universities -Eg-VÐ    (C) Home yÐ    (D) All of these ZyÓxÐ
(15)  _____ is changeable.                                                                                                                ‡.ÞpsìX ____ (15)

(A) Social Class  Y)®) �     (B) Sex  ½ (C) Caste  fZ] (D) Tribe  F

(16)  ASI becomes Head Constable is a ____ mobility.                                  w•5+k,~ìX ____ Z}XZöXWð»Š»jàC   (16)

        (A) Horizontal  Z| (B) Downward  4,zà (C) Upward  ùŠ~ (D) Geographic  'Z5ð
(17)  Cultural variability in Pakistan is:-                                                                                          0*Îy~pDZ%sìX (17)

       (A) Urdu  gŠz Z (B) Islam  Zsx (C) Constitution  WM (D) Local Dress  £ò]k
(18)  Increase in Pay is ____ mobility.                                                                           w•5+k,~ìX _____ Z{~ZŸ† 9 (18)

(A) Upward  Š~ ù (B) Downward  4,zà (C) Horizontal   Z| (D) Geographic  'Z5ð
(19)  Change in relationship between Parents and Children, is called:-                      zZ−+Zzg”VÆ©]~p~Ãë÷X (19)

(A) Social change  ÑCp~ ç    (B) Cultural change  pDp~    

(C) Economic change  çÙp~    (D) None of these  Zy~ÐÃðÌ7
(20)  The main resistance in Social change is:-                                                          �Yp~ÅgZ{~ƒÐ(,~g»z^ìX   (20)

(A) Vested Interest Groups  Š6,„¤/z\ ¢    (B) Overpopulation  Z�ÛZ¹W!*Š~    

(C) Villages  ŠŒ]    (D) None of these  Zy~ÐÃðÌ7
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